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B %W 1 T H 261 256 298 554| T » WiHIT5 T H 531 538 518 1,056%7 #7 7 T H 1,284 1, 545 1,416 2,961k ART3 T H 224 249 217 466
B W2 T H 368 346 378 T24(F - WEET6 T H 376 363 400 763[#T BT 8 T H 675 776 646| 1, 422[/ 4,739 4,954 5,046 10, 000
B W 3 T H 293 327 303 630 i 9, 694 9,938 9,730( 19,668/ BT 9 T H 1,331 1,379 1,095 2,47T4| "R BE1T B 95 95 94 189
P45y ET 1T H 147 145 134 279[% e 601 633 649  1,282[KJKHI 1T H 116 91 106 197| —fRE2T H 336 352 362 714
795y ET 2 T H 97 90 77 167|% L BT 1 T H 371 417 392 809[K JA BT 2 T H 512 536 510 1,046 f=E3TH 294 313 321 634
794y BT 3 T H 132 148 164 312(%F BT 2 T H 696 691 706 1,397 2 9,735 10,716| 9,740| 20,456| {24 T H 124 111 124 235
fE T iy 282 249 261 510|% k- HT 3 T H 1,553 1, 422 1, 400 2,822 BT 1T H 815 811 837 1,648 —fRE5T H 87 101 93 194
A T 428 406 409 815(%F |- M7 4 T H 795 771 739 1,510[0 0 BT 2 T H 312 339 301 640k #+ 1 T H 84 68 71 139
fif iy 196 184 179 363K M 1 T H 881 980 919 1, 899{r L BT 3T H 239 255 251 506 2 T H 111 117 109 226
I T 126 102 118 220k 4 2 T H 350 398 411 809 i M1 4 T H 785 695 691 1,386[iR # 3 T H 119 111 104 215
7 T iy 178 203 199 402k M 3 T H 745 858 875 1, 733 D BT 5T H 784 715 728 1, 443 & A HT 150 132 152 284
HE 1} 409 383 431 814t i 460 430 500 930\ 31 T 6 T H 1,260 1,232| 1,234| 2,466\ & 1 T H 47 36 37 73
K » W Hr 512 523 517 1, 0404 53 498 540 543 1,083 A BT 7T H 1,154 1,043 1,107 2,150\ & 2 T H 63 58 55 113
W/ bk HT 306 280 277 557(K B F 1T H 277 312 316 628|371 HT 8 T H 831 844 726|  1,570/f1 & (L 39 57 63 120
N Gl ) 517 505 503 1,008 B T 2 T H 274 334 336 670\ 3 BT 9 T H 964 798 904 1, 702[/)n it 1, 549 1,551 1,585 3,136
HmfmELTH 192 184 193 74 s 1 T H 631 832 802 1, 634[r A ET10 T H 983 793 771 1,564\ M 1T H 297 220 241 461
HmfimE2T H 245 237 259 49614 sF 2 T H 169 232 229 461 5 8,127  7,525|  7,550| 15,075|% [ 2 T H 84 87 79 166
HmfHE3T B 326 368 361 72914 F 3 T H 395 516 443 959\ & 1L T H 190 184 202 386|= [l 3 T H 171 139 126 265

2k 5,015  4,936| 5,061 9,997|5 F 4 T H 627 742 717 1,459 K& 2 T H 1,076 1,250 1,213| 2,463/ AR1TH 104 96 104 200
B oA BT 1T H 237 256 258 514(4 F 5 T H 553 666 658  1,324[8 1% 3 T H 380 387 399 786[/N A2 T H 44 47 51 98
|ﬁl§@ AHT2 T H 352 350 349 699 2k 9,876| 10,774 10,635 21,409|4 # 1 T H 1,408 1,445  1,457| 2,902/ AR3T H 170 177 176 353
B A RT3 T H 213 240 257 497 & M1 1T H 497 418 487 9054 2 T H 1, 062 1,054 1,103[  2,157/h K4 T H 213 149 209 358
E W1 T H 714 675 657 1,332 H M2 T H 825 748 760 1,508|5 JF 3 T H 882 928 908 1,836/ A5T H 75 72 83 155
E W2 T H 747 813 811 1,624 H M3 T H 1,153 1,070 1,100 2,170|% HH 4 T H 0 0 0 O[E W1 T H 173 152 150 302
E W3 T H 404 463 453 963K & ffr4 1T H 789 640 665 1,305|5 JF 5 T H 164 51 136 187/ W2 T H 243 260 242 502
E W4T H 802 780 863 1,643 H M5 T H 1,055 952 992 1, 944 &t 5,162  5,299| 5,418 10,717|® R 3 T H 219 163 190 353
E W5 T H 520 498 523 1,021 H M6 T H 416 437 389 826//)5 il 55,793| 56,719| 55,863| 112, 582[/) B 1,793 1, 562 1,651 3,213
E e T H 227 222 241 46318 » A 1 T H 387 380 381 6L 1 T H 363 390 365 755 A1 T H 206 153 208 361
E W7 T H 489 486 409 895 » i 2 T H 854 637 803 1,440 2 T H 405 413 424 837k A2 T H 212 207 159 366
E W8 T H 280 293 277 570[Rh (i BT 1 T H 350 398 380 7780 3 T H 456 489 474 963[ A3 T H 104 111 102 213
E W9 T H 4 4 4 8| [ BT 2 T H 790 853 843 1,696/F0 HHEI 1T H 204 218 210 428[f A4 T H 49 41 46 87
K HE 1T H 314 317 297 614(RT [d BT 3 T H 595 587 529 1, 116/f0 HHEr2 T H 282 275 302 577[f A5 T H 69 59 71 130
KHEHE 2T H 339 303 292 595fifi [id] BT 4 T H 473 411 400 SL1lffE # 1 T H 185 219 222 441[p% A6 T H 36 39 35 74
K HEHE3T H 350 384 369 753 it 8,184 7,531 7,729| 15,260k 4 2 T H 208 222 257 479 A7 T H 66 67 65 132
KHEHB 4T H 314 367 345 71208 BT 1 T H 1,236 1,372 1,328 2,700 # 3 T H 193 203 209 4126 A8 T H 88 97 74 171
K HEHES5 T H 317 348 342 6901 M7 2 T H 855 933 839 L, 772l 4% 4 T H 229 254 234 488|/)5 2 830 774 760 1,534
T #EHETL T H 664 674 671 1,345%F BT 3 T H 1,552 1,606| 1,475 3,081 4% 5 T H 549 617 663  1,280|H B8R T & #F| 8,911 8,841 9,042 17,883
T #HET2 T H 564 580 568 1,148[% W] 4 T H 742 776 771 1,547\ %5 6 T H 569 622 560 1, 182|& #H 64,704 65,560| 64,905| 130, 465
T WEHT3 T H 427 506 410 916 M7 5 T H 1,334 1,586 1,441 3, 027|fl A BT 1T H 359 390 394 784
T W4T H 509 478 416 894(%r M7 6 T H 98 116 113 220l AT 2 T H 513 393 515 908




